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Directions (1-5): #I<r fe=T 31T I AT AT 3TeAaT-37e1eT 2B A fleT ITerT-37e9T el &1 Uiy
freamer Few g o 8. AR & 718 SeERY 1 eAreEE reage wY 3R A e e
geal & 3} difST-
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Delhi hum bai Gurgaon Pune Meerut

QL. Wl i et & P Ha¥ A el FroAa, el wiwr et & A A9 Ay For Foaa
&1 o= yfaera 872

(a) 110%

(b) 120%

(c) 115%

(d) 112.5%

(e) 125%
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Q2. Igana & weft AeT Bl T FoT A FT qOF 7 Wt et Al Ay Fer FoAT F JHequTaT
fra=T 7
(a) 11:13



(b)12:13

(c) 9:13

(d)9:11

(e)13:11
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Q3. elter o qoT / 20 R 3me, S ¥ 15 Rreiamr Fa 3R Reeh ¥ 30 Rratamar A

G2, well gT Fller & 77 AT Fel TR AT HFAA?
(a) Rs. 3200

(b) Rs. 3500

(c) Rs. 3700

(d) Rs. 4000

(e) Rs. 4500
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Q4. waft uTer Are¥ A 3 F ua Few r Jorerr A et AT # 3T Fhr wfay frat v

w2

(@) 5

(b) 4

()2

(d)1

(e)3
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Q5. RS ATS AET Y Tolall A ITPRT AT 7 weft it wall 1 wliear & fAw 250 IfA=w
@d FIaT 8. I @9, e i way A ufe frat i Frera F1 3eqarT 2: 3: 4 7, @ IJwRr

e A FaR 1 yfa frelt Fraa 7a ffSA?
(a) 50

(b) 100

(c) 125

(d) 75

(e) 150
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Directions (6-10): fas=ifaf@a ar e Y ¥l DAV 3R DPS & 124t et & 5 regsmmant &

faeanfiat it Fror wear 7 qufar 31

Ty 7 .
150 _ — % 125 ?‘ 7

150 — {;5; Eﬁ? = ///

:3 [ 14|:-; % / — /14!3
140 +—pz / / = /_
13 % /11: / — —
130 _ % %: % = %:
‘9% = 7= U= =

Sections

Q6. DAV & 3re#Ter C 3R D & e faganfda i wear #1 DPSH argemr B 3R E &
frary fReafdat f gear & srequra J1a e,

(2)58:63

(b) 67 : 53

(c)37:29
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Q7. af& DPS 3R DAV & 3re7a1mer B & oW 3R aAfger et &1 srequra sworer: 3: 2
R 4: 3% @ QT ol B €AW H TG §U AT B F ToW gt srepermr B #r
wfgar gt & fraer wfaera sifas 31

(a) 50%

(b) 25%

(c) 36%

(d) 60%

(e) 40%
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Q8. DPS & 3r7emmr B, C 3R E & fAramas Reanfdat i sitaa w&ar 3ik DAV & sregemr

A, B 3R D & & e Rganfat & sitwa wear & #vy 3iaw 71a 1.
(a) 40

(b) 32

(c) 26

(d) 48

(e) 56
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Q9. WY 3reTamalt / DAV & Taeamef, DPS & fagnidat & fraer wfcrera srfds a1 w7 872
(a) 12 %%

(b) 8 %396

(©) 249%

@ 17 =%

(o) 14%
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Q10. af& DPS & 3rs7mer A, B, C 3 D #t frarmant faganfdat & @, afeer gt gow
Tzttt v gerem & 20% FfAF §. @Y DPS & 3rqemr A, B, C 3R D F Rramw afgen
fRreanfda 1 qew gt & srqura wra ¢fe?

(a)6:5

(b)7:9

(c)5:6

(d)3:5

(e)7:11
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Directions (11-15): A+ IR ITF HT LAAIEF HEAqT HY 3R T 7T oaT 7 30T
g.
farafaf@a ax amw a¥ 2016 # 5 SN Fiaer F AT arawt 7 gt #r
TEAT FY geufar §.
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Q11 a¥ 2016 # AT C 3R D F FAramaT IS & For RgAidAT 1 Fiar B 3R E &t

e & AFfawd & For Rt § srqura e g2
(a) 23:14

(b) 20: 21

(c)14:23

(d)21:20

(e)7:11
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Q12. IfE ¥ 2017 # Felar A 3R € 7 25% e fagamdt 3n$d arar & AFRAwar amar &
geell @ A &, ar a¥ 2017 F Fieer A 3R ¢ F P For 3$ Rerdi, Axfawa
faremeff &1 fhraat wfarera &2

42204
@ 7
(b] 345%

© 26 ;%
(d)

(e)
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Q13. Flerar A 3R Fiersr C dr gt ema3it F sitaa Feafiat & #aea siaw A fifore?
(a) 17

(b) 8

(c) 12

(d) 10

(e) 23

L1Difficulty 2

QTagsBar Graph DI

QCreatorPaper Maker 10

Ql4. IRX weAF Fiaar # 3mEer, RfAer 3R AFfawa F v gow RAgmfat w1 afger
faeanfdat & srerara woren: 7: 3, 3: 2 3 4: 1§, Y FiAw B A For Afgar Rgnfat &
Floror E F Fel 739 fagnfiat ¥ e aira fifo.

(a) 125

(b) 143

(c) 145

(d) 155

(e) 118
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Q15. g7 Ui Fictail § Fer RAfarer Frgzmel, For 3 Rt @ fraa wfdera wa @2
13304
(@ @

(b)

(c)

3
15 E%

16 =%

2
17 20q
lEafb

(e)
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Solutions

S1. Ans.(d)

Sol.

Total price of oranges in all the five cities together =50+75+60+70+60=315
Total price of apple in all the five cities together =50+60+55+60+55=280

Required % = % %X 100 = 112.5%



S2. Ans.(a)

Sol.

Total price of all three fruits in Gurgaon = 55+50+60=165
Total price of all three fruits in Pune = 60+65+70=195

Required Ratio = 185 _ ﬂ
195 13

S3. Ans.(c)

Sol.

Total amount - by Satish on fruits=20x65+15x60+30x50

S4. Ans. (e)
Sol.

- &0+80+50+65+65 — E = 64
Average price of mango per kg in all the five cities 5 5
In three cities i.e, Mumbai, Pune and Meerut price of mango per kg is greater than average

price of mango per kg.

S5. Ans.(b)
Total amount spends by Neeraj in Meerut city
=55+ 65+ 60 = 180

Total amount spends by Neeraj in Agra city
=180 X = =225
100
Price of orange per kg in Agra
_ 238

== %4 =Rs.100
Sol.
S6. Ans.(b)
Required ratio =
1254140
—335 _ &7
" 265 53
=67:53

Sol.

S7. Ans.(e)



DPS students of section B =125

Male DPS students of section B = E ¥ 125 =75
Female students of section B=125-75=50
DAV students of section B= 175

Male DAV student of section B == X 175 = 100

Female DAV student of section B=175- 100=75
Total male in section E=75+ 100 =175

Total female in section B=50+ 75 =125
175-1325

So required percent = » 100 = 4004
Sol. 128
S8. Ans.(a)
Average students of DPS from section
B, C and E together = 12541104140 _ 435
Average students of DAV from section
A, B, D together = w
= =165
Required difference = 165 - 125 = 40
Sol.
S9. Ans.(d)
Total students in DAV
=140+ 175+ 155+ 180+ 160 =810
Total students in DPS
=160+ 125+ 110 + 155 + 140 =690
Required percentage = % * 100
=172
=17 — %
Sol.

S10. Ans.(a)



Sol.

Total student from DPS in Section 4, B, C, D
=160+ 125+ 110+ 155

=550

Let no. of male student = M

No. of female student=F

ATQ

M+ F=550

120

M +—M= 550
100
220 M =550 = 100
M =250
So, F=550-250=300
So Required ratio = 65
250

S11. Ans.(c)

Sol.

Required ratio =

B0+60 _ 140
=—=14:123
S0+140 230

S12. Ans.(a)

Sol.

IT student in college A and Cin 2017

-—(1nn 100 x 25)-+(an 80 x 25)——135
- 100 100/
Mechanical student in college A and Cin 2017

25 25
= (15[] + 100 Xm) + (12[] + 80 x m)
=315

Required percentage = E * 100

—425%
Y7

S13. Ans.(d)

Sol.

Average of students of all branches of college A
. 60+100+150 . 3210

3 3
Average of students of all branches of college C
_ 140+80+120 340

o 3 3

Required difference = 320 _ %
30
=—=10
3



S14. Ans.(b)

Sol.
S15. Ans.(a)
Total IT students = 100+ 120 + 80 + 60 + 90
=450
Total civil students =60+ 50 + 140+ 70+ 70
=390
Required percent = 45:;; 0 x 100
=13 ! 0%
T3

Sol.



